-cgj) A % 320578, BEOIERF

L B 237
3 303 ]
1849+ 2 = Z-oZ2x-=
8+9+5 5 272
3 1
—+16+2= ——28+7=
5 2
3 2
2 45:5= 14+7+2 =
5 3
301 1 111
_ X _— - = —_— — X — =
572 2 7 275
1 2
L 66+6= 0742 =
2 3

www.snowmath.com


https://www.snowmath.com

-c@ )& % 320578, BEOIERF

ZE0 BIC5: A7

3 07 1 303 1 3
1859+ 2=2_ =32 S 2o
222 57373 0x)
3 43 3 1 7 I
2 i l6e2= 2 g2 L 08T = (=)= (-32
5716 5 =55 5 BFT=3)=033)
3 8 3 2 8 2
2 45e5=02-12 14+7+2=229%
5 72775713 t373723
301 1 1 1 1 1 2
_X_—_:(—_) —_— — X —_— = =
572 2053 2 273573
1 21 1 )
——66+-6=(—)=(—10= =7+ -—=—=10-
S —66+6=(-5) = (-105) 07+ == =105

www.snowmath.com


https://www.snowmath.com

